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Questions

The forest locaed in foothills are called ....... forest.

The forest found betwene 1000-4000 meters elevation are known as.

Trees absorb ... from air.

The forest are almost 60% of totla world's rainforests.

------------ forest are also known as taiga forests.

Forest having 750 mm rainfall are called.... forest.

------------- layer of tree does ot let the sunlight to penetrte.

The uppermost layer of the forest is called.

The forest situated in equatorial belt are ........... forest.

There are....... male types of forest.

Answers Choice

A. Coastal

B. Coniferous
. Alpine

. Piedmont

Alpine

. Coniferous
Boreal

None of these

Oxygen
Nigtrogen
Carbon di oxide
Argon

. Boreal forest
Amazon forest
Temperate forest
None of these

Boreal
Tropical
Temperate
None of these

Boieal
Tropical
Temperate
None of these

Canopy
Ground

. Understory
Emergent

Canopy
Ground
Emergant

. Understory

Temperate
Boreal
Tropical

None of these

One
Two
Three
Four
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